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Please read the following instructions carefully and follow them.

General Instructions :

(1) This question paper contains 13 questions. All questions are

compulsory.

(it)  This question paper consists of three Sections — Section A, B and C.

(1i1) Section - A contains 8 questions (1 to 8) of 2 marks each. Answer to

these questions should be completed within 50 words each.

(iv)  Section - B has 3 questions (9 to 11) of 4 marks each. Answer to these

questions should be completed within 100 words each. Answer of MAP

question should be attempted accordingly.

(v) Section - C has 2 questions (12 to 13) of 6 marks each. Answer to these

questions should be completed within 170 words each.

(vi)  There is no overall choice in the question paper. However, an internal

choice has been provided in some questions. Only one of the choices in

such questions have to be attempted.

.59/1/3 3

P.T.O.



e
EI:I
TE-F

1. S3elientur o foheal &1 Il ohT fargaiwor ifsu | 2x1=2

2. 9T § SAlhd= 6l Tg ] 3798g A o T8 TS gRT 1 T8 forl € hRaTedl ! IR

HIT | 2x1=2
3. ‘cfequ umr 4 et forw S ool feregl = 2w o e e | A4x % =2
4. ficienT ° ST 9os o fohal &1 STl sl ISAMR I | 2x1=2

5. (2) faf fova 3g = w1g srwiiet g g % <@t # Hor-frend sgM 9 T §

HEIAT &1 o1t 33TT Y fohed] @ shedl shl samean shifvre | 2x1=2
Sroa
(b) &=t wre ITTRE™ o e&dmas s 20207 st sarea HifsT | 2

6. WA H 3TUHTE TS TEEeA 1 T4 SAAEAT o Tohedil el AUl b TIeeiwr shifSTT | 2x1=2

7. 1975 H IR TRV GRT T HOYUT shife® shT STaermon w1 ferweryor hifr | 2

8. g ol ugel fiefi-Teft TR i fRr firg 78 58 ¢ 1 v o1 ey hifs | 2
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SECTION - A

1. Analyse any two causes of ‘Globalisation’. 2x1=2

2.  Highlight any two actions of the king to restrict the expansion of

democracy in Nepal. 2x1=2
3.  Name any four countries that are included in ‘South Asia’. 4xY%=2
4. Highlight any two reasons for the ethnic conflict in Sri Lanka. 2x1=2

5. (a) Explain any two steps taken by the US that aided the integration of

the European States after the Second World War. 2x1=2
OR
(b) Explain the ‘Vision 2020’ of the regional organization ‘ASEAN’. 2

6. Analyse any two benefits of multiparty coalition system adopted in India.

2x1=2

7. Analyse the concept of ‘“Total Revolution’ as visualized by Jai Prakash
Narayan in 1975. 2

8.  Why did the first coalition government at the Centre in India not prove to

be stable ? Analyse the major reason. 2

.59/1/3 5 P.T.O.
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Svefientor Y gl <1 g1t o1 fargerao HifSw |

2x2=4

10.  SFGATE ST hl “ThTeH THATE” i A o foheal al THE fogaTi i Sme it |

2x2=4

11. wRa % feu e Terifes Tar-wmtes 5 =9r asai o1 (A), B), (C) @t (D) g gutar min
2 | e & T IR % STTYR W 38 TEH-T a1 379eh Jal 719, TN hl T8 SIHhRT <hl
Y T TUT HETUd 3T&R 1 3T ITR gfeqeh H il fgu 7 wrey o S19eR fafaw
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SECTION - B

9. Analyse any two demerits of globalization.

2x2=4

10. Explain any two points of Deen Dayal Upadhayay’s thinking about
‘Integral Humanism’.

2x2=4

11. In the given political outline map of India, four states have been marked
as @ , , @ and @ . Identify these states on the basis of the
information given below and write their correct names in your Answer
Book along with the respective serial number of the information used and
the concerned alphabet as per format that follows :
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iy INDIA

S. No. of the Concerned Name of the
Information used Alphabet State
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(1)
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g T ST 1952 H ST U T IMe T T |

(i) I8 T &I 1957 W BT Ul I FEH ITed el &l T |

(iii) <8 T &l & HIUE I & RS AT . SIS 1967 T A6 gRTCY |

(iv) % TSI &I & 37T TH, T TH° 3h1 Hgrad bl 97 g3 | 4x1=4

AE : I8 T hacT e Thenter o o o §edn 11 6 W E |

ffeTRaa et < 3w fafeT |

11.1

11.2

11.3

IRA H Y| 3 A9 fohdt 9 Te= gu e 2
1957 T 1 | T § HidE U1 ! S50 ITed Tal 371 T ?

“3TRIT T, 71 T 6T hgTad b1 S0 fohd T | T T 72

11.4 = 9 T 91@T 1952 & 1967 0ok sheg o G H &I ? 4x1=4

12. (a)

(b)

. 59/1/3
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TE dH & I9TR Hifoe fod wyra <t e Terifass aiféat & = 1989 &
YT HEHIT o bl 7 | 3x2=6

YA

2014 % 9Tg WA THifd H 31T fehgl 1 TH@ Feettal 1 STFR ShifoT aum &
forgl 1 heaureh il ShRisRAT o A faifgw S areda A wfgesti o av & g 2 |

2x2+2%x1=6
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(1) The State which was not under the rule of the Congress Party in
1952.

(i1) The State where the Congress Party could not win majority in 1957.

(i11) The State from where K. Kamraj, a Veteran leader of the Congress

Party, lost election in 1967.
(iv) The State from where the phrase ‘Aaya Ram, Gaya Ram’ originated.
4x1=4

Note : The following question is for visually impaired candidates only

in lieu of Q. No. 11.
Answer the following questions.
11.1 In which year was the first general election completed in India ?
11.2 In which State had the Congress Party not won majority in 1957 ?
11.3  From which State did the phrase ‘Aaya Ram, Gaya Ram’ originate ?

11.4 Which political party remained in power at the centre from 1952 to
1967 ? 4x1=4

SECTION - C

12. (a) Highlight any three areas where consensus has emerged among most

of the political parties in India after 1989. 3x2=6
OR

(b) Highlight any two major changes that took place in Indian politics
after 2014 and also name any two welfare programmes that made

women the real beneficiaries. 2x2+2x1=6

.59/1/3 9 P.T.O.
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13. (a) = gru 7o Srefeyat i foefoa o & foiu 3o U fordl =R whedl i

ST 1T | 4x1% =6
U

(b) I Tl T Th TTGd T3 I It fehegl =R ekl shi SATEAT HINTT | 4 x 1% = 6
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13. (a) Explain any four steps taken by China to develop its economy. 4 x 1%2 =6
OR

(b) Explain any four factors that make the European Union a strong

organization. 4x1%=6
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